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1. SIEHE
(1) A

WER29%F11H2H~11H10H

(2) A A
T I IR
(3) AN

KB K OVEE DR T EE IR E (Bt A (Cs—134, Cs—=137) ) DHIE

2. #EEBME Cxidaill CERK294E10H) HI
(1) K& (B TBRfE:1 Bg/L)
Cs—134+Cs-137: AHLEICBW TR

<HE>

BT DBRET I 5

(MMA%H

15 HE S
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FE A

(% Al

IZBWTARRH)

RSRATRICEE SR IS5 O Bk S8 (OBK) CFR24423 1 16 AR A @8 59 1307)

B EES DA (220134, 7 4137

431 110 Bg/kg

AGER T OIS B AR D BARE OKOE s & B A AR E) CER244E3 7 5 B AT /K 030555 1524

S5 B e JR K TE R )

HEEES A (B 134, BT 4137 631 110 Bg/kg

(2) J&E (BrH TERME: 10 Ba/ke(F#ZIE))

A TOHET500 Ba/kgbh T THD, HEIAEFIZDOUWT

(X AZEAE DB BT THER

Cs=134+Cs—137: At ~ 326 Ba/kg(H#ZJE) A ~ 392 Ba/kg(H#z1E))

<BE> YT AREZE (500 Bg/kg) OIE MK

() PRSI 300 s 2

500 501 1,001 1,501 2,001 2,501 e
LLF -1,000 | -1,500 | -2,000 |-2,500 | LLk a
AYE 15 0 0 0 0 0 15
(15) (0) 0) (0) 0) 0) (15)
(G BIHL)
(HLX BHS)
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TS E IR T, RIS R T, BRI B E D

B D BRH S T o MR D 03703 a5g

(& TOHEAEDHE AT IEH SN AONDHEBEZLNDHTEND, ki 9 E A S i,
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ORrFRER) (BI#R)
KEEZRIUTHRE—E
BRI A ST — % H T B I L (Ba/L)
BREA | K ki | B E 5y ss 8 W > o o %
No. Tk 4 (m)
(m) (m) (%0) (mg/L) (&) Cs—134 Cs—137
1| FE U i S Sk SR R 2000m T =8 11A2H i 14.5 0.5 5. 30.7 L L0 < <
T 13.5 32.6 3 1.9 <1 <1
o ka1 R Bt | 8 | peE | ow 5.0l 05 3. 20.6 2 0.9 a a
T 2.2 21.6 3 1.6 <1 <1
3| AH R Hb 5 v BB )1 592000m s 3T =8 11A6H i 20. 4 0.5 6. 30.7 L 0.7 < <
T 19.4 32. 4 6 2.4 <1 <1
4 59 1000m e 3T f’é 11A6H i 8.8 (7)‘2 5. ig‘g i 13 : :
TR TSR E3E 0' 5 29. 4 2 0' 9 <1 <1
5 K H 59 1000m e 3T = 11A6H i 11.5 : 5. : :
T 10.5 31.1 3 1.7 <1 <1
6 /NI 1000m e 3T =8 11A7H i 12.8 0.5 6. 30.0 ! 0.7 <l <l
T 11.8 31.8 7 2.6 <1 <1
7 FH )1 1HK92000m s 3T f’é 11A7H i 15. 4 12‘2 6. 2(1); ; g‘z : :
TR R AR E3E 0' 5 28. 4 1 1. 0 <1 <1
8 REJI 7K 1000m et 3T = 11A8H = 12.7 : 6. : :
T 11.7 32.1 2 0.7 <1 <1
9 & ) 119 1000m {3 =8 11A8H = 10. 6 0.5 6. 29.4 2 L1 < <
T 9.6 31.7 5 1.4 <1 <1
0 T b e K1 1000m o 3T ZE ) inon | om .85 6. 29.7 ! 0.7 a a
T 9.8 31.3 1 0.7 <1 <1
117 R F ##91000m {3 L 11A9H i 11.4 0.5 7. 30.5 ! 0.6 <l <l
T 10. 4 32.0 2 0.6 <1 <1
12| KA [ ##51000m {3z L 11A9H i 11.5 0.5 6. 31.8 L L0 < <
T 10.5 32.0 2 0.8 <1 <1
13|V o & T S B HN M9 1500m 3T =8 11H10H i 18.0 0.5 6. 31.8 ! 0.5 < <
T 17.0 32.5 <1 0.6 <1 <1
14| i EEE Ao 0omiE— 28 |11 g10R | 1 6.8 %0 6. 29.6 ! 0.7 < <
T 15.8 32. 4 1 0.9 <1 <1
15| HHE S ek 0 1 559 1000m A< 3T =8 11H10H i 18.6 0.5 8. 321 ! 0.8 < <
T & 17.6 32.5 <1 0.5 <1 <1
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OnFG(EER)
BEEEZSIVITRE-E

RIS Sk —HXIE H TSP E IR [Ba/kg (FLJE) ]
- EIKIR = A st + 3 i
No. 7kiﬂi% :F?KE& H 35{% (m) :BK(E{;!E g(@#‘ ‘l‘%llj( f&%—f l‘%"? N '7 I _ {Jﬁ%
(cm) (%) Cs—134 Cs—137 &
1| AR A i S v g FIRT AR 2000m s T 11H2H i 14.5 5 73.2 w <10 <10 -
2 [F ) 1 Hfvie3ak T FEHE PRI X 1 5 P ST 11H2H & 3.2 3 73. 7|0 - v b <10 49 49
S| AR B b Sk H5)13#592000mf 30 11H6H i 20. 4 5 74.0 0y <10 14 14
4 L . 9 1000m A 3T 11H6H i3 8.8 5 73.9 b <10 63 63
JF e vt
5 IR K P9 1000m A<t 3T 11H6H i 11.5 5 74.0 22 <10 21 21
6 JINE I8 1000m e 3T 11A7H i3 12.8 5 72.6 Tib <10 18 18
7 , 55 51 H#92000m et 3T 11A7TH i 15.4 5 72.8 w 16 160 176
i X b St v I
8 TR P ek REJ V59 1000m {3 11H8H 2 12.7 5 73.0 Tib 10 110 120
9 B 7K 1000mft T 11H8H Z 10. 6 5 76. 1 0y 34 250 284
10| FEBEMT Hb ek AF NI 1000m A 3T 11H9H & 10. 8 5 72.1 b 17 140 157
11| VRN 1 A 1000mAs it 11A9H i 11.4 5 71.6 b 11 91 102
12| R B 59 1000m {3 11A9H i 11.5 5 77.0 T <10 37 37
13|V o & A SE ek S 1500m A 3 11A10H i 18.0 6 74.9 0y <10 17 17
14|/ 4% 1k PGB 82 55 2 D AL #9400 m AT 11H10H i 16.8 8 38.5[ L - W 26 300 326
15| H AT FE ik 18 [ )1 #9100 0mA<t /T 11H10A i 18.6 5 69.9 Tib <10 42 42
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